IDS(— Exaae B

— J

A. Sw T Aeynencw/

_——’ —y
- im'cA P = /)‘l = /)‘Jg é
ity

avec ? - /)on9 + LnE
7; = - M}.(/YMB. e~ + ces 5. @)

L4 — _ s
ﬁe;cfo;z ﬁmma,é : N = N &
avee N = INV

< - Vecleanr /mq@n , oM = KA. &
V. ReE 3
2 . R (-8°F +538)

nde A A MW/en/fz,M _ {;,Ze%e,:

—

Mna = mg, B
N o= ’da:")—/?’t(/i& fjm‘ﬂéy.i
.,L./)‘t/ﬁél 7‘ﬁ7@t9)@

Vﬂladzcm/,mm&jcwm = -
= /?’l(_ﬁQ +j mng)?

=D

Csb
—QA% comeu/acfm : % = ﬁ?ﬁ 7
4 po

210 oy Va[M o /e ]L/mv;a

a. P
W







v
S,/ Zl+ﬁ avec L/g—“—/g}/’
ﬁ"’l’f 1/52
x5, R
Fow = =~ 5 7 7

—
B . B = O

: " % 4l
é}z«a% e //

avec o8 = A E ('?:f_?)
Zﬁﬁ- z-.___-) *@ﬁ'%)?’







